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QUESTION 1

You intend to upgrade a Check Point Gateway from R71 to R75. Prior to upgrading, you want to back up the Gateway
should there be any problems with the upgrade. Which of the following allows for the Gateway configuration to be
completely backed up into a manageable size in the least amount of time?

A. upgrade_export

B. snapshot

C. backup

D. database revision

Correct Answer: C

QUESTION 2

Which Check Point mechanism used for controlling traffic enables firewalls to incorporate layer 4 awareness in packet
inspection?

A. Stateful Inspection

B. Packet filtering

C. Application Intelligence
D. IPS

Correct Answer: A

QUESTION 3

Which of the following is NOT supported with Office Mode?
A. SecuRemote

B. SSL Network Extender

C. SecureClient

D. Endpoint Connect

Correct Answer: A

QUESTION 4

Mr. Smith needs access to other networks and should be able to use all services, but session authentication is not
suitable. The Security Administrator selects client authentication with HTTP. The standard authentication port for client
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HTTP authentication (Port 900) is already in use. The Security Administrator wants to use the Port 9001, but there are
some connectivity problems. What is the reason for the connectivity problems? Give the BEST answer.

A. The configuration of the service FW1_clntauth_http is not correct.

B. The Security Policy is not correct.

C. The configuration file $FWDIR/conf/fwauthd.conf is wrong.

D. It is not possible to use any port other than the standard port 900 for the client authentication via HTTP.

Correct Answer: C

QUESTION 5

When you change an implicit rule\\'s order from last to first in global properties, how do you make the change take
effect?

A. Select save from the file menu

B. Reinstall the security policy

C. Select install database from the policy menu
D. Run fw fetch from the security gateway

Correct Answer: B
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